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Time:15 Minutes

S.5.C (Part-I) A/2024
(For All Sessions)

Group -1 R 1A

on the objective answer sheet provided. Fo

Note: Write answers to the questions
given. Which answer you consider correct fill the corresponding circle AB, C or D in front of each
question with marker or ink on the answer sheet provided.
u’)’.ﬂ’:.—/ztLuﬁu":../b,ol:/gnl.f.,;(fM.._/Iiu/u/,qwli_wd:c.) DCBAcMZ ML g
1.1 The correct equation of motion will be: S reilrerndel7 11
(A Vp —Vi=at  (B) v, — Vy =at (O VA-Vi=a 2¢2 (D) VA+ W2 = gt
2. The number of significant figures in 0.03 is: Juym,ftlw 0.03 2
(A) 0 B) 1 (@) 3 ‘
3. The unit of force will be: ‘ I £ (7
| VAl T L
(A) Ns (B) Kg ms’ /65 \
4. The values of rectangular components Fy and 7,31 A
F, of a force F are 6N and 8N, the magnitu
of force will be: /
(A) 48 N ®) 14N rw(
5. The value of grav1tat10nal fiel »sfrength 's surface 1s: 5
(A) Zero J* © }9, g (D) 8 9 ng
6 Abodyofmass2kg is pl c don the tab 4(5/1_@'&(&)\.4 U’J,;;{{l_;lm()cm K’._g, gr,f,hz 6

5%400 (D) Zero joule Jz
c_ul.”fu‘" fvu:'b&(/ ;.;lf 7

F 4
/C) Q»
l . X

250 (B) 20 joule/ _ (C) 400 joule

es not obey Hooke s law is:

(A) 50 _]011]
- The graph thh

A

\(B)
8. Water freezes at \ (J’lugt"au’..)//yf/b dy 8
(A) 32 °F \\(B) “ /;80 oF (©) 212°F (D) 0°F
9. Metals are good conductoi~ of heat due to : P 7 3% J d L7 LF 9
(A) Free electrons e s AB0UT (B) Bigsize of their molecules /w/K),ﬂLL ol
(C) Small size of their molecules gl Ly (D) Rapid vibrations of their atoms 24157 ALl
10. A force of 20 N produces an acceleration of Kf)c—dfqu)’('b’Z 5 ms" Jr)v('J/?J N 10
2.5 ms™ in a body. The mass of the body is:
( nJh
(A) 10 kg (B) 50 kg ©) 8 kg (D) 0.25 kg
11. Normal human body temperature is: W 4 & 8’(’-[}1)1,«:»;»9’ a1
(A) 310k B) 273k © 37k (D) 98.6k
12.  The unit Nm used for torque can also be used for: S nuf_L“fn.:f‘gm,&f‘ﬁ wle LSt Nmey 12
(A) Power s (B) Efficiency L{‘f‘ &
(©) Momentum Pl D) Work i
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2. Write short answers of any five parts of the question.  [2x5=10] o felnF LinfedS 2
(i) Whatis international system of units? ?;_W"’ S ;MJ" P ())
(i) Define least count of vernier callipers. .q,g;{ éeja’lfwﬁ’z'/,,d:( Ao (i)
(i) Why do we need to measure extremely small intervals ¢f ime? S dyuden A el US Sl (i)
(iv) Write down two advantages of friction. Aiainl P} (i)
(v} What will happen if all frictions suddenly disappear? \ﬁ,«u w‘wﬁ Lol ,ﬂ”/ruf {v)
(vi) Whatis meant by Isolated system? / < S e IS (Vi)
{vii)  Why does the value of "g" vary from place fo place? ?a.qm// J!/urguﬁ edd g (vil)
(viiiy What is Global positioning system (GPS)? WJ»J;'JJ( (viii)
3. Write short answers of any five parts of the questi:n.'/{sz- })k \ ez L dd 3
() Draw a distance-time graph which shows a variable speed. s /J»Q:Z L it e teb gt (1)
(i) Differentiate between speed and velocity. / \ \ \ j (i)
(i} How can vector quantities be represented graphically? f/ : (iii)
(iv) Define deforming force. ral “ - _zf i Sl by (iv)
(v) Canwe use hydrometer to meqﬁaz the d@\of milk? \ (S i S e sad Kkt (V)
(vi) Define elasticity and give an exampe.” ™ o findE a fEE s ()
(vi) Differentiate between land brekze and sea ceze. \ B WIS fr/. J,uj/(" (vii)
(viiy  Why transfer ofkeat in fluids take place by convection? N A ST e ez JE R (vill)
4. Write short / of any five parts of thie question: \ [2x5=10) ~E Fen P Lz 634,3{ 4
() Define ce9t’re of gravit \ , / AP P S IY ()
(if) leferemét/— between like and unlike forces. 2l 33 a8 By Ky (i)
(i) Why the height of veicles is kept as low as :_tile/?// ?+J@dﬁh1[ / w dpadugse (i)
(iv) Define power and write\fs SI unit ey Slesmgt oy dm V)
(v) Differentiate between sou (energy\aqg llgpt anergy. g @G StEIAEH B (V)
(vi) Why are fossil fuels called nomgenew/abfe form of energy? S bl UL P a F SEESSATIAS S (vi)
(vii) Define internal energy. b g JSgat g (i)
(vil) Define evaporation. 4 g ey (il
Section - IY (92,4
Note:  Attempt any two questions from the following: 9x2=18] ./ febzleivnadfatitits o)

5 (a) Whatare measuring instruments? Explain meter rod in detail.  [4] e ol L el Fe (05

(b) How much time is required to change 22 Ns momentumbya  [5] 25 M ‘_} wl22 Nsui’f“'fr yd {f.u/ ()
SR ¥ s KT u’zj(,( 20 Nd:._
6. (a) Withthe help of speed - time graph prove that 2as =V — V*: [4] 2as =V} - VES el frdy () 6
(b) A student presses her paim by her twmb withaforce  [5] v, S 51 S0u S TENe & F1 & r}i )

her th
L s ) 8 o e Lo F
7. (a) Define resolution of force and how can afo;ce be 4] Gost LSS S PETd STepdsys () T
- resolved into its perpendicular components? . e oy L}:LFC s ;1,
(b} éb!o&ik wetghm% 20N'|s fifted Grtn vedrtlca:iy upward. ’ Bl v Py BMe oS lls? S 20N (L)
y alculate the potential energy stored in i ) g{r o J%zdui..n
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question with marker or ink on the answer sheet provided.
U/ e S LB e 352 5 2 S M 'rvv./ﬂ/qmy-wéw DCBAA 2L Ll 2ad

1.1 One megameter is equal to:

(A) 10°m (B)
2. See-saw is an example of:

(A) Rotatory Motion

(C) Vibratory Motion -

3. The resultant of all the forces acting on a body is called:

(A) Net force

(C) Gravitational force
4. Inertia is related with:

(A) Mass i (B) Force
5. The value of sin 30 is:

(A) 0.15

A

6. The value of "g" on Moop/f's 3
"’ (B) / 1.62ms™

\:?X © };n/ i

(A) 10ms™
7. Rate of doing work is
(A) Energy g (B) *’l(arque

4
8. Mass- -ghe

\ /

equation is:

@)/ Ex N ( E=mc / (©) E==
9. )ératzl\kgress\\bqus on: ,
Newtc “ (B) Pascal's law
©) Archm(l:dx\prmc;\e J:‘!LJMA (D) Hook's law
10. Unit of heat is:
(A) Watt o é’é/)/ Kelvin g (© Joule Jz
11. Absolute zero is eqixal to:
(A) 273°C (B) 373 °C ©) —273°C
12. The thermal conductivity of ice is:
@A) 3Bwm'k' B) 0.7 wm''k’ ©  1.7wm'k’
231-09-A
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10°m ©) 10°m
Tl (B) Circular Motion
Frd (D) Random Motion

> fline

(D) Forc
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Write answers to the questions on the objective answer sheet provided. Four possible answers are
given. Which answer you consider correct fill the corresponding circle A,B,C or D in front of cach

et fefl L1
10%m
e Jefib.y 2
Sk
gy (s

D)

,/m'*lu(//irb‘dbd.ff/()uj 3
\\ «ff/wwi

& \Q\V;me 4
{I> Y (C) \u/, D) Energy (i

\7\ JJsm30°
(B) A 0366\ »(c'f)\ 70 \Dy

\@ N

(D)

adrux’gfg/i’;fxla .6
3.9ms™
e QWAL L T
(D) Power a
:4‘-_;/,(/&,(/'14 Jb .8
PRV LTI 9
Wi L Fy
u)L?LJf ,
i bl e 7

(D) Ampere =

D)

(D)

.10

e bsdpgiedred 11
D) 0°C
Aulg ) 28, 12
0.8 wm 'k




E’” No S.5.C. (Part-I) A /2024

(For All Sessions)

Physics (Subjective) Group - II &) A
Time: 1:45 Hours Marks : 48
Section - | 2> Jsl
2. Write short answers of any five parts of the question. [2x5=10] i fez L é,&;.é,’ 2
(i) Listout any four derived units. S dfuf bflsi‘ugo'éf 0)
(i) Name four prefixes which are most commonly used. -u:"“ rtér‘(jl'ﬂ_‘qdbi_ﬂdb“’lrk (ii
(i) Why we use zero error in measuring instruments? el SUd K s u:_.,uf‘j/’ & (i)
(iv) Define momentum and write its formula. J_’“ Iy 6 s S V4 1t (“’ v {iv)
(v) Write two advantages of friction. il W)
(vi) Give two examples of third law of motion. _u,;u:’r‘/»J =7 A (V)
(vii) What s the relation of 'q’ with radius of earth? =4 wt,.&‘; R ltkad S g (vii)

‘ (viii) Define satellite with example. -Q:Jl"//,lgj.f e (vill)
3. Write short answers of any five parts of the question. [2x5=10] Eif ez L é,g 3y 3
(i) Define transiatory motion. Give an example of it. P LSt A8y (i)

(il gégzvl ear :t;i);id—hme graph for a body moving with uniform —_z .51/ (e-/f»@( i wh S 2 AL AMIk (i)
) Acar st ot f vty bcomes 20 N oy
N g{(}" -J'gl EK - Jlon
(iv) Wite two important features of kinetic molecular model y/ngtter. \ ) * ?A@,JJ;L s elnl (V)
(v) State Hooke's Law. ™ \\ A\ \\\ ASISr I SEN)
(vi) Onwhat factors, the pressure exerted by a liquid insyé it depend N ?‘¢v>>< L LSomlph (Vi)
) oo e R\, S B D R
(viily How the convection mode of he?y&kr is difterent from conductien? %_.aﬁ‘ sl e s SES y Pea s i (vil])
4. Write short answers of any fiye'parts of thé question. [26=10] ,).gj,:.;;’.;yzﬂ:" Lz égz_@f 4
(i) Define clockwise moment an nti Elpcfwise /rp’g[_n_e.gg.\ _\é‘/ﬂ; PRI | Fisasrin S ()
(i) Define unstable equilibrium ané‘ié\utrgye(cﬁilibrium. "\\ f ¥ }Jp,du,EU},fm@,dd,fq,’;rg A (i)
) Fovcans s e kO ORI\ S 5t EoA SO
(iv) Whatis megnt bysqil-erosion?. v } ; v et e & ()
(v) Differentigte between magma and geo-thermal energy. / AN BAY) 22 mE (V)
(vi) Write fwind e //»»m/ e LG5 (vi)
(vii) Define latent heatef fusion. W(ite its equatiory, P A umg /Y, ez E Sk (vii)
(vili) How cooling is produéid by evapgration? — te Qo gl St ey (Vi)
Se“\%n “H_ (22
Note: Attempt any two questions from the following:  [9x2=18] .q//jayzé.;mmm_éf e LLits -2
5. (a) Write a detail note on scggﬁge. 4 A s ()5
(b) r;(f)gcrglghzggﬁ ?|s requiréd to change 22Ns momentum by 5] LLilin dv JZZNS“UZ{. f/” L & Lo
¥ 387 U 200N
6. (a) Explainthe working of Hydraulic press. 4 I S L P skt () -6
(b) Atrain starts from rest. It moves through \1N l:\mt : 10040 L §e (2 ‘4‘3 S fee oot ill ()
n 100 sesond i unforn acBrelon Mt B s g 100 - B2 g P
7. (a) Define evaporation. On what factors the B ety i J, VI Jét u’f- Y Sefugy () T

evaporation of liquid depends?

(b) Calculate the power of a pump which can it200  [5]  §_«- §_¢C% ES S Bmut £ 1040, 200 kgos i ()

kg of water through a height of 6m in 10 seconds. St
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